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Review for Test
slope, parallel, perpendicular, y=mx b, linding “k™, intercepts

Find the slope of the line passing through (5, -7) ) and (-2, -7).

A line passes through (6, “l)and (11, K). Find kif the slope is parallel to the x-axis.

State the slope perpendicular to Iy +T=5x-6.

A line passes through (k, -4) and (-9, 8). Find the value of k if the slope is parallel to y=Tx-6,
A line passes through (6, 7) and (5k, 9) . Find k if the slope of the line is perpendicular o 5/6.
Calculate the slope of the line represented by 10{x+4) = 5(5v-2).

A line passes through (2k, 0) and (2K, 6). Find k if the slope of the line is parallel to -3/7.
What is the slope of a line with an A-intercept of 7 and a y-intercept of -9.

A line passes through points (3, 5k) and (-8k, 6). Find kil the slope of the line

is perpendicular to y=6/3x+11.

State the slope perpendicular to 12x + 4y =16,

State the slope(m), the Y-intercept, and write the equation,
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6 (5k-6)= 5 (9-7)
g 2b = /5 35 -
R =45 — 35 — 3

36K = 2
: - 30
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